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Figure fo the vight indicate full marks of the question.

Q:01{A) Explain source of secondary data.

 Total Marks: 70

:01(B) Find median and mode from the following frequency distribution.

Class PO~ [ 130 150- | 170~ | 190—- | 210— | 230 -
‘ 129 149 169 189 209 229 249
Frequency 3 8 13 10 7 5 4.
OR

Q:01(A) Give the difference between primary data and secondary data.

Q:0{B) Find Mean and Standard Deviation from the following data.

Q:02(A)

(2:02(B) Calculate Karl Pearson’s correlation co-efficient from the following data.

Q:02(A)

Q:02(B)

Class

55—58

58 - 061

61 — 64

64 — 67

67-70

Frequen

cy

6

14

16

24

20

What is correlation ? Explain types of correlation.

X

500

600

700

800

900

Y

1000

2000

3000

4000

5000

OR

Calculate Karl Pearson’s correlation co-efficient from the following data.

n=10, Yx =200, Ty =225, Y(x — 10)* = 1100, ¥.(y — 15)%= 1200,

Y% — 10) (y — 15) = 850.

From the following data find Spearman’s rank correlation co-efficient.

X

23

20

25

26

24 25

20

18

y

11

[3

15

i3

9 10

11

8

Q:03(A) Explain properties of regression co-efficient.

(P-FoD



Q:03(B)

Q:03(A)

Q:03(B)

Q:04(A)
Q:04(B)

Q:04(A)

Q:04(B)

obtain regression lines from the following data and estimate y when x = 140 and x
for y = 100.

=240,y =196,8,=60,S,=20and r=0.60

OR

Equations of regression lines of y on x and x on y are 5x + 3y = 95 and 2x +y = 35

then find ¥, ¥ andr. :

Find regression line of x on y from the following data and estimate x for y = 100.

x {1001 8 [ 100 . 108 | 80 | 90 | 85 |90 | 103

y 99 -i 89 99 85 79 79 | 89 |81 39

Define Index number and explain it’s uses.

find Laspeyre , Paasche and Fisher Index number From the following data.

Hom ‘ Base Year . .Current Year
Price Quantity Price Quantity
K 110 40 133 50
A 112 25 135 30
J 215 40 315 60
U 108 10 216 20
OR

Prove that Fisher's index number satisfies Time Reversal Test and Factor Reversal

Test.
Find Index Number by (i) Total Expenditure Method (ii) Family Budget Method for

the year 2007 from the following data:

ftem | Quantity | Price Price
1997 1997 2007
A 15 12 24
B 10 18 45
C 5 8 20
D 3 12 36




Seat No.

A4 :
Q:01 (L)
Q:01(%)

Q01
Q0

Q:02(M)
Q:02()

Q:02(%1)

(2:02(4)

Q:03(%1)

SARDAR PATEL UNIVERSITY
B.Com.(Sem-I11)- EXAMINATION
Monday,ziﬁl Felaaviosgy-2023
02.00 P.M. TO 05.00 P.M.
UBO3CCOMS53/23 — Business Mathemhatics & Statistics-1T1

aywllotioyeil Hiis Hred-4l Y0 £UIT £,

Total Marks: 70

StieL Hilesdl AL UL a1l expudl,
A2 viiafa [z 2 WY, w1 slgds ikl

i | 10— [130—] 150 [170} 190~ 210— | 230

129 149 | 169 | 189 | 209 | 229 | 249
wilgld 3 8 13 10 7 5 4
sl
WAAfLs Hi[dl vl 910 Hulsdl dRal dgtad Sul.
12l Halsedl 112 Heas 20 uHUBA [Que- AL
49, | 55-58 [ 58—61161—-64 | 64-67 | 6770
'ou:rt_ﬁ 6 14 16 24 20

2u2iold 2led ¢ 7 dell UsIRL sypudl.
Al sl Wi sttt woziolls < owddl s,

X 500 600 700 800 900

y 1000 | 2000 | 3000 | 4000 | 5000

»udl
Aladl wilidl w2 sidflugiaar aeiolls I tsadl st
=10, ¥x =200, Sy =225, ¥(x — 10)% = 1100, ¥.(y — 15)*= 1200,
S (x — 10) (y — 15) = 850.
Al Rl wiZ Buuziiadl suis dueloials <) apadl s,
X 23 ] 20 1 25 | 26 | 24 | 25 | 20 | 18

y 11 13 ] 15 | 13 9 10 | 11 8
(Al 2oitils <Al aEERl sypuidl,




Q:03(o)  «ilal wulesedl iz fiad woin wuii wallseull Andl w1 sz x = 140 AR y i
y =100 Gl AR x < VMl 53U,
¥=240,7 =196,8,=60,S, =20 - r=0.60
AL
Q:03(») y 4 xWRef @A x4y [adelofs Toildl willsaell Sx+ 3y =95 wid 2% +y = 35
sitdl £,y @4 r ikl
Q:03(01)  Aldedl uladl Wi x Al y e Fadeioin 3o il vld syt y = 100 Gl A3 x <
VML 521,

| x [100] 85 [ro0]108| 80 [ 90 | 85 | 90 [ 103

y [ 99 [ 8 1 99 1 85179179 i 89 | 81 | 89

Q:04()  yksils <l carvut 2L 2 A+l Gudiollal sveuci.

Q:04(ot) {1l Miledl W12 iz, wal w1 (R L yas 24150 il

. V1R 94 Uy, 98,
et k) Gyed] L] syeal]
K 110 40 133 50
A 112 25 135 30
] 215 49 315 60
U 108 10 216 20

2|

Q:04¢ot)  ldid 525 glazdt yaus wiis wad Al 2ud e [(Auelay udleel 4 qrimi 560,
Q:04(*)  {lat-{l wilesdl w2 2007 - ad w2 (i) s vl AL (i) § JACE wiglsyun 4L 93 U
ZIERTE

deq 6324 ) CIE)
1997 1997 2007
A 15 12 24
B 10 18 45
C 5 8 20
D 3 12 36
— —




